SAP ABAP table ISX CTR PRIM ADP {Primary Read Adapter for Replication Object}

ISX_CTR_ ADPT_ID

CLIENT [CLNT (3)]
ISX CTR PRIM ADP-ADAPTER ID = ISX CTR ADPT ID-ADAPTER ID —-O0.N
- - - - - - - -7 - ADAPTER_ID [CHAR (4)]

T ISX_ CTR_ATTR_SRC

ISX CTR PRIM ADP-SEARCH ATTR = ISX CTR ATTR SRC-SEARCH ATTR CLIENT [CLNT (3)]

ISX CTR PRIM ADP-BUSINESS OBJECT = ISX CTR REPOB]J-BUSINESS OBJECT 0.N BUSINESS OBJECT [CHAR (10)]

- -

- - __ SEARCH_ATTR [CHAR (30)]

- ISX_CTR_REPOB]

CLIENT [CLNT (3)]

BUSINESS OBJECT [CHAR (10)]




